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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 3rd Semester [‘xammatlon, 2019

ECOACORO06T-EcONOMICS (CC6)

Time Allotted: 2 Hours ' Full Marks: 50
The figures in the margin indicate full marks. B TN TGZ T T e we
Candidates should answer in their own words I Arerd SIRIT I3 TG AN M
and adhere to the word limit as practicable. ©es PR

All symbols are of usual significance.

1. Answer any five questions from the following: _ 2x5=10
fsfeiRe Q-G #if5ib aess Ted wiae

(a) What is meant by Balance of Payments of a nation?
I (TR GRS STy T&109 6 (@Iea 9

(b) Show that, in a small open economy, total saving is the sum of domestic and
foreign investment.

@38 @, aﬁwrw@ﬁ@mﬁﬂmcﬁmemﬁmﬂamu

(c) Why Keynes preferred fiscal policy over monetary policy to cure the problem of
demand deficiency?

SIRVE TEO! TR NI (@2 (9 ST AOCE DRIPG FRE® Ao G
SAFIFS @ SFG AWl FE ?
(d) Distinguish nominal and real exchange rates.
il R 29 © A% R s 1w & o
(e) State and explain Walras’s Law.
“‘Walras’-«3 Rfaf% T @2 101 S
(f) What is ‘Seigniorage’?
‘Seigniorage’ /& ¢
(g) What are the causes of money wage rigidity?
wifls TR ‘Tgerd T [ ¢

(h) What is sacrifice ratio?
SIS SN DI 0T ?

2. Answer any four questions from the following: 5x4 =20
fermferfie @-ct orafo ae e wes

(a) How Phillips Curve can be derived from the Aggregate Supply Curve of the
economy?

AaF @i @ (@ o e @t Fae sat i e
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(b) Explain Keynesian concept of Underemployment Equilibrium.

@Eeera e et ey qrRefS aptem e
(c) Explain the idea of Purchasing Power Parity.

FIFTOI Ay A0 T @t

(d) Suppose a country devalues its currency by 12% and at the same time domestic
prices rose by 10%. What real devaluation has been achieved? What if prices
have risen by 15%?

£ IF, A G @ed o TR -9 30% OR FR Iy (s o Y

3% SR I FO0! A ST T W6 9 Tofas 79 3 se% =7
iz RS & wiviE 2

(e) Explain the Natural Rate Theory.
eI 2 wgfl Tt I

(f) How is interest rate determined in the classical model?

IS 0o wa 2 Froie Fdife =2 o

3. Answer any fwo questions from the following: 10x2 =20
fefeie @-@ et 715 e Seg mes

(a) How full employment could be achieved in Keynesian model through a
mechanism known as Keynes Effect? Under what circumstances this effect will

not work?
(PR TGTET (23 2O -7 T ol ol o=t siemt caes =i 21 e
& AfRffere «2 e TriFr T At 9

(b) Using Mundell Fleming Model explain how internal and external balance can be
achieved. ‘

Mundell Fleming St@e S-praet 0 e wrorediv ¢ i< Srosg sz o
IR O I AN

(c) Distinguish between Adaptive and Rational expectations. Define Phillips Curve
and show that Short run Phillips Curve is downward sloping, while the long run
Phillips Curve is vertical.
Wmemmmﬁﬂ%?%ﬂ@w@mwmemm,
TP RT3 (A Aot Aoty ere Meoicet ot Sarw W 4l w7

(d) What is ‘Say’s Law’ of market? What are its implications in a barter economy? 2+4+4
Does the Law hold in a money using economy?

‘O7-93 938l & 2 @3 vy R 2ige wfifere a9 &R F ? @3l 9 R
wdifece & @2 7@l sredt o
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